ER-IERRREE-RR

SHTEs 2B RE
ZEXEE LERSRE

FFR P 2R X =R
sEET | RHESRE RED
METHEEFLOLME RIS
X7 (BKE) FER=EHEE |19
(EWKE) |TIERSIEHEE 127
i REEHREE |RIFIRE=18.2
ok TR
B E AT 0K 4R
- p tdbmI[F£4IR]
2] - . fEE 18m/s
A FRRRE fi: 20m/s
= - > fE 18m/s T/yEES
RESE T RE =y 20m/s EEES
AE FFEDES 1285 E&E E DiFES20cm
KR E ) 6.0m
= 80 B 1.6m
X7 REMSEHEE |1
TIERMEEHERE 100
i REEHREE |RIFIRE=145
ok HERE" WHRJIFE=7, 75)
8 A K PR
- p tdbmI[F£4IR]
W . fEE 13m/s
SR A SEEE B 5m/s
= T , fEE 13m/s EFH#ES
Bz FHRE B T5m/s BEMES
xXE BEDFRS 1285 E D ES10cm
KR e 3.0m
T o] B 0.9m
AR [F EEECLURENTRANLEE
ME MEICKYEENTEINSEE
sz - fE £ 100m
=& 1Rig B 500m
w18 OR/INEEASY RNEE65%THEEIm/ /sl L
Q@F/NEE3S EXNEE0%
7;7._**1’ @IJ-I/@-}L\\’CZ4B-*fFEE]K§'§EE'0)}¥$4OcmDJ~J: .
- QFEEH50cmLl £ T, BEHTESCLL LD B AL
Y Be-RE - FHSEBEOVTIUONEELY4~5CL EIELBASE L EHEEE
£2 ZH: OREKEMN-TCUT
QBIESEMN-5CUTAKBMmLE™?
] R .BEHCEBORRESE2CUT (REHIEEEMDETEEELERT D)
EK-ES AEFTEHROEMH T TREMN-2CLYBLIMER
EOERRO TR IR KSR 1RERE [100mm

EREREEY, RERSIER OHEAFSHhEICLAREEERLTIVET.
2 2HORERMIAERERE . AEHNBESKBEANROE,



